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SRIHFEAH ~GR6E3H  BFETIXVWEAKRE (t/km2/30H)
B U A 5H%> 9l [ 10A [ 1A [ 12A5 | 1A | 2H% | 3A%
W53y« Tl (HiANo. 1) — 4 3 20 9 1 5 1 6
W3S - BEER (HiSNo. 2) 7 9 11 5 5 3 3 2 5
B4R (H5No. 3) 3 1 3 2 3 2 1 1 4
SEVE() (M5 No. 4) 2 — 3 7 9 4 1 1 2
FEOM (H145No. 5) 10 5 7 6 3 5 2 3 4
(R TEH) SERRITAEE BRIV UAKRE (t/kn?/30H)
PUBHER U 5H % 8H % 9A4r | 104 | 115 | 12AH% | 1A%y 2H % 3H 5
W53y« T (HiANo. 1) 6 16 7 5 2 6 14 44 35
W3 - BEER (HiSNo. 2) 13 11 5 18 40 13 18 15 13
B4 (Ha5No. 3) 3 4 1 4 3 3 22 4 11
SEVE(] (M5 No. 4) 2 4 3 11 3 2 21 4 10
FEOM (H145No. 5) 3 8 15 8 12 3 17 3 7
(T8555 TaD) SERRI2AEE BRIV UAKRE (t/kn?/30H)
FUBHR Bt 5H %y 8 A4y 9l | 105 | 11 | 12835 | 1A% 2H %5 3H 5
W53 - TR (HRNo. 1) 5 2 7 3 5 3 4 — 5
WGy - B (HiSNo. 2) 7 8 7 4 13 25 4 5 8
E4&M (H5No. 3) 4 2 4 3 4 3 5 3 5
SEVERI (M1 ANo. 4) 5 2 4 4 4 4 3 3 3
YRl (H5No. 5) 6 6 12 3 10 4 2 — —
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